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& {3z BREEA ouT IN | GROSS | HDCP | NET B 15z BREE R ouT IN | GROSS | HDCP | NET
L2724 | FEZ 38 44 82 10.0 72.0 20008 4 |3IfE fath 42 47 89/ 8.0 81.0
15724 |FFHE  #Bish 38 46 84 12.0 72.0 20603 A tRiEE FE 45 46 91 10.0 81.0
L2 A |BRH  iE 39 40 79 6.0 73.0 2624 BB B 47 42 89 8.0 81.0
M4 =R EE 40 40 80, 7.0 73.0 29052 4 [EH Bl 48 45 93| 12.0/ 81.0
L2 A4 1EE E# 44 39 83 10.0 73.0 2060 % A |%eE  f@AHR 48 45 93| 12.0/ 81.0
6?4 FHIWL =15 45 41 86/ 12.0 74.0 Ma 4 HIl B 42 46 88 6.0 82.0
624 NI EZ= 39 39 78 4.0 74.0 = | 3MIZ A {BEH R 49 44 93/ 11.0 82.0
6L 4 BEAX Mt 400 42 82 8.0 740 ;| 34zs4a mH RE 46 47 93 11.0 82.0
LR A Mk AA 42 39 81 6.0/ 75.0 & | 346is 1 Bl == 40 50 90, 8.0 82.0
ORI % 4 FRIE #+t A1 43 84 9.0 75.0 B | saprsq [t ELE 43 48 91 9.0 82.0
LR A4 AEF IfE—ER 43 40 83 8.0 750 &l 39GRL% 4 WL - 44 50 94/ 11.0 83.0
M4 F = 39 44 83 8.0 75.0 a4 ER EfE 45 49 94/ 11.0 83.0
1324 BF BZ 40 38 78 2.0 76.0 A BA = 49 45 94/ 11.0 83.0
13321 B8 FE 43 40 83 7.0 76.0 A4 2R = 49 46 95| 12.0/ 83.0

156 2R’ |RF 42 41 83 6.0 77.0 G2 A4 |HH FIE 43 49 92 9.0 83.0
166052 4 B+ ZFEF 42 44 86, 8.0 78.0 4 4 BE EER 50 41 91| 8.0 83.0
166072 4 FA ik 44 46 90 12.0 78.0 ASRI B A #EE  fE— 47 44 91| 7.0/ 84.0
186144 K& Hl* 42 41 83 4.0 79.0 A58 4 O K 45 47 92 8.0/ 84.0
186144 BE R 39 48 87 8.0 79.0 454 Kt B 42 46 88/ 4.0/ 84.0
1861424 ER EFF 44 45 89 10.0/ 79.0 4841  EER & 43 44 87 2.0/ 850
18614 4 BRA {5k 42 41 83 4.0/ 79.0 4900 fEBE BX 47 50 97 11.0/ 86.0
18604 4 ¥&E hBA 39 52 91 12.0 79.0 OB A Ik RF 47 48 95/ 7.0/ 88.0
2315 4 BAE AR 47 44 91 11.0/ 80.0 50 4 & #RE 49 48 97, 9.0 88.0
23615 4 IRA BEF 44 41 85| 5.0 80.0 505 4 | RH Eif 51 46 97, 9.0 88.0
2324 | LB N 41 46 87 7.0/ 80.0 b3 |EE#E 53 44 97/ 8.0/ 89.0
23484 T = 42 42 84/ 4.0 80.0 bAI R 4 1Bl & 50 51/ 101 11.0/ 90.0
2184 A ZiEH 48 44 92/ 12.0/ 80.0 BB A it KRE 47 48 95 5.0 90.0
2302 4 N IER 41 42 83 3.0/ 80.0 bAMM A A HEE = 50 52/ 102 12.0/ 90.0

57 2B 1E 48 49 97, 2.0 95.0
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